o ol 54

AAGNA o] 2715

Fsfolat,



oh& 283 22 aABC 9|4 AB = AC = CD ©]1, /ADC = 28°
d i, zx o] 7] Fotefet,

A

X

B 28 ™1y




ggoleh [ ] ¢t

=11
ok

e 7

CEEERERE
of e}

A=

©
—

180° ©]
e180°x_ =

&

o

m
or o
~r ~
5 M
R
N
G of
=T
_ N
=

S
=< M
Hr M
~r ol
N e
dﬂ 1r_|
o
~r off
N -
off 14

o

tl

]




4.  ts Id"NA o] 2717

@D 120° ® 130° 3 140° @ 150° ® 160°



rcem

Apzhe] Aol of

A= v AR ] W o]7 480 cm?
tofzt

S

o, x o] &

o]
=



6. the 7o) ARl FylolE Fatelel.




@ 10mcm

@ 167wcm

Zz_l

o]7F 12cm ¢l Hojr}, A

@ 127cm

B 18rcm

® ldzcm






5t

27

97} e AAZHE ABCD oA A5 e Yol

op 7T
R

~

_--5Cm- _

cm?



cm?



